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} Lirecrions: Clinose the word or phrase (1), (2), (3), or i4) thrar bext completes each
5 -'-'d'l'l'-l'l;"i’lﬂ- Then mark the correcs -::J'm-ﬂr:: o Your answer sheel.
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PART A: Vocabulary

i § hETE Was once a I:ng dlﬂ.'erencc heiww:n Hu: two 1hm:rre.1|uans, bul now there is some ~———
of opinions between them.

1) conviction 2) partnership 3} presumption 4) convergence

The treatment that used to be given for this illness is now out of

1) vogue 2) impact 3) prospect 4) dimension

Talks are being held about who should have over theisland.

1) sovereignty 2) sustainability 3} establishment 4) implementation

The new law allows the members to make decisions by majority vote, rather than by

1) enormity 2) unanimity 3) proponent 4) constitution

Naw that English is used as the main language, the country’s native language has been —-—-

1) contradicted . 2) violated 3)marginalized 4) differentiated

The responsibilities of the different people working in this department are clearly .

1) attributed 2) interacted 3) orientated 4) demarcated

The museum is planning to increase the amount of space to modern art.

1) endorsed 2) promoted 3) allotted 4) displayed

Women's employment opportunities are often severely by family commitments.

1) embraced 2) conflicted 3) reprimanded 4) constrained

Although these research topics are all related to linguistics, they can be divided into four -
— categories.

1) integral 2) discrete 3) adjacent 4) ultimate

A new treatment causes the disease to enter a(n) phase, but the sufferer will never be

fully cured. : :

1) latent 2) focal 3) erosive 4) underlying

PART B: Grammar

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
i best ﬁr.s' each s;:ace Tﬁﬂr rmark the cqrrmr choice on faur answer sheet,

Iupﬂcr is the largest of the nine planets that travel around the Sun. Its orbit lies beyond those of
Mars and the asteroid belt, at (11) ——-—--— from the Sun of 778 million kilometers. It takes 11.86
Earth years (12) pne orbit around the Sun and rotates on its axis once every 9 hours 55
minutes 29 secands.

From Earth, Jupiter appears to the naked eye as a bright star-like point, second (13) ———-
Venus in brilliance. Astronomers of ancient times named Jupiter in honour of the ruler of the gods
worshipped in the Greco-Roman world, though they had no idea (14) ---——- the name actually
was. In fact, Jupiter is larger than all the other planets put together. Its diameter is 11 times
(15) ====—=we-- the Earth, and it could contain more than 1500 Earths within its volume. Its mass is
318 times that of the Earth, but because it is so large, Jupiter is remarkably light, its density being
only slightly greater than that of water. *

1) an average distance 2) a distant average 3) an average distant  4) a distance average

1) completing 2) to complete 3) when it completes  4) as long as it completes
1) to only 2) only of 3) only to 4) of only
1) if suitable 2) of suitability 3) how suitable 4) about suitability

1) th . 2) that of } those of uch mgre than
e M}Mh’lﬁ Q’)OM)‘GN&)‘?QEW")»{H Il'l.ﬂ
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Passage I:

However, complex methods of digital image enhancement and classification procedures
began to appear in the literature just before the launch of ERTS. Canadian Centre for
Remote Sensing (CCRS) acquired a multispectral analysis display (MAD) which was
capable of controlling the relative intensities of the red, yellow and blue "guns' of the
color display monitor. However to carry out one of the classification procedures with this
equipment, such as the ‘maximum likelihood classifier’ would require about 15 hours of
computer time. David Goodenough of the CCRS Applications Division recommended the
purchase of an image analysis machine developed by Richard Economy of G.E. in the
U.S. which was a hard-wired computer system designed especially for image analysis
called the IMAGE 100. It was more than 50 times as fast as the MAD equipment. CCRS
was the first organization to acquire this equipment.

1) Dedicated computer for image analysis

4) Multipurpose computer which CCRS bought

3) Machine which Goodenuogh sold to G.E in U.5.

4) Multispectral analysis display (MAD) equipment used by CCRS

17- Ttisinferred that before the launch of ERTS image analysis methods had been ————,
1} Very complex 2) Quite sophisticated
3) Very well developed 4) In their early development stage
18- It is inferred that classification using image analysis machine could take about ——
minutes.
1)3 2) 10 3).15 4) 20
19- The “image analysis machine” was ———— the MAD equipment.
1) As fast as 2) Slower than 3) A lot Faster than 4} A lot slower than
20~ The “image analysis machine” was built by ———-—-.
1) CCRS ' 2) Richard Economy
3) David Goodenough 4) The request of Canadian researchers
Passage II:

LIDAR (Light Detection.and Ranging) is an optical remote sensing technology that
measures properties of scattered light to find range and/or other information of a distant
target. The prevalent method to determine distance to an object or surface is to use laser
pulses. Like the similar radar technology, which uses radio waves instead of light, the
range to @n object is determined by measuring the time delay between transmission of a
pulse and detection of the reflected signal. Photogrammetry and LIDAR data complement
each other. Photogrammetry 1s mpre accurate in the x and y direction while LiDAR is
more accurate in the z direction. Photos can clearly define the edges of buildings when
the LiDAR. point eloud footprint can not. It is beneficial toincorporate the advantages of
both systems and integrate it to create a better product. A 3D visualization can be created
by georeferencing the aerial photos and LiDAR data in the same reference frame,
orthorectifying the aerial photos, and then draping the orthorectified images on top of the
LiDAR grid. e o
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LiDAR data clearly identifies the ————-—.
1) Reflected laser pulse 2) Sharp edges of buildings
3) Vertical coordinate of the objects 4) Horizontal coordinate of the objects
LiDAR observes the

1) Scattered light strength

2} Optical remote sensing technology

3) Benefits of sharp edges in the aerial photos

4) Time delay between transmitted and received pulse

LiDAR uses - to measure the distance to an object.
1) Light 2) Radio waves
3) Radar remote sensing technology 4) Same technology as photogrammetry

A 3D visualization is constructed by
1) Aerial photos with special reference frame

2) Georefereced aerial photos and LiDAR. data

3) Draped ortorectified images and aerial photos

4) Orthorectified aerial phtos and photogrammetry

To have a better accaracy in horizontal components of coordinates, one should use .
1) LiDAR 2) Aerial photos 3) Photogrammetry &) Orthorectified photos

Passage ITI:

Most modem navigation relies primarily on positions determined electromically by
receivers collecting information from satellites. Most other modern techniques rely on
crossing lines of position or LOP. A line of position can refer to two different things: a
line on a chart and a line between the observer and an object in real life. A bearing is a
measure of the direction to an object. If the navigator measures the direction in real life,
the angle can then be drawn on a nautical chart and the navigator will be on that line on
the chart. In addition to bearings, navigators ‘also often measure distances to objects. On
the chart, a distance produces a circle or are of position. Circles, arcs, and hyperbolae of
positions are often referred to as lines of position. If the navigator draws two lines of
pasiﬁuu.andthtyhtmmghemustbcﬂthatpnm‘ﬁun A fix is the intersection of two or

‘more LOPs. If only one line of position is available, this may be evaluated against the

26-

27-

28

29-

dead reckoning position to establish an estimated position.

The intersection of two LOPs shows —————.

1) How good a fixis 2) The location of the navigator

3) The accuracy of the nautical chart 4) The accuracy of dead reckoning system
The main source positioning information for modern navigators is

1) Satellite data 2} Measuring bearings

3} Measuring distances 4) Dead reckoning measurement

Modern navigation methods vse for positioning purposes.

1) Line on charts 2) Only satellite receivers
3) Direction between the abserver and an object  4) All of the above methods
ALOPisa

1) Fix 2) Position 3) Line 4) Distance
A fix can be obtained by ————.

1) One LOP 2) Satellite receivers

3) One Circle of Position 4) Dead reckoning position
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